Unit 1, Station 2, Round 2,

Task 3
ﬂh Multiplication (Vertical) Name:
Solve each problem. Answers
D 99 D 68 3 76 v 38
= 0 x 7 = 6 « 4 b
3.
4.
69 9 11 D66 8 83 .
= R = 9 = B = 8 N
b
8.
65 1 76 ) g9 12 40 .
w4 = 2 = 8 x 6 -
10.
11
12.
13) 16 4) a9 15) 20 16) 11 13
T w7 w2 w5 -
14
15.
16.
M 31 18) 64 19) 10 0 g4 .
L w4 w5 x 2
18.
15.
20.




Unit 1, Station 2, Round 2,

Task 3
ﬂh Multiplication (Vertical) Name:
Solve each problem. Answers
1) 43 1) 97 3) g5 4) 71
1.
= 12 54 * 43 x o8
3.
4.
3 28 6) 96 7 65 8) 80 ]
= 70 60 x 72 x 77 B
£,
8.
%) 23 10) 60 11) 92 12) 43 .
x 16 17 x 12 x 91 '
10.
11.
12.
13) 75 14) 60 15 91 16) 70 .
= 63 97 = 19 x 44 '
14,
15.
15.
17 87 18) 38 % 33 20 65 .
= 55 54 = 27 = 13
18.
15.




